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FRI0E 2R BBREEEN
2R% (8 VEFRF (H)
ALT | RER | REENEE | #uts NALF | meR | RAENEE | #us
CNGV - CHGVH - CHGTHZS %% FE LIS DIt &

500L &
LPG 169, 878 2, 630 0 1,960, 442 26, 648 0
PG 12 474 29 0 165, 092 910 0
LG 39, 340 150 0 469, 781 565 0
AG 4,500 3, 000 0 35, 988 9, 000 0
LT 2,708 1. 416 0 28,918 10,570 0
LNGV 0 0 0 0 0 0
tnL 0 0 0 0
(LDH 0 0 0 0
CHGGV 263 0 0 1,522 2,315 0
Z D1t 114 0 0 844 87 0
mrEgAY | CE ] I 7 R ] I 0.262.587] ¢ 50005 | 0
HEEREAE %) 96. 1 133.0 0.0
sEmaR [ 1 6502 [ 9312682 |
HETER A %) 96. 2

500L L1 _E 10001 5
LPG 0 0 3 1
PG 223 0 4,322 0
LG 268 412 5,090 4,081
LT 0 0 0 0
nL 0 0
(LTH 0 0
CHGGV 0 0 0 0
Z D 4 0 51 3
waEgAE | 7 7] I I ) I ao85[ |
XETERA L (%) 81.2 127.3
L o7 | 1385 |
HEERAL %) 0.1

1000LEL £
LPG 1,836 570 49 12,008 5,495 609
PG 2 1 0 14 16 0
LG 230 237 6 1,774 1,534 35
LT 105 36 1 675 140 86
wnL 0 2
(LDH 0 2
CHGGV 0 0 0 0 0 0
Z0ith 0 0 0 112 64 4
wrEgA | 2am;| adl el [ 14,583 783l ]
XRTERA L (%) 99.1 104. 1 108.7
LEsas [ _som _______ __________ | 22510
*EiERALE %) 0.2
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FRI0E 20 BBREEEH
2A% (B NEERH (B)
AT | RER | RAEWEE | #utR NS RRENEE | L

CNGVES 33 FA DI & &
e s o o ] I ) I 7 I ] 0
HNEERAE %) 13.5 0.6 0.0 0.0
oNevEmAE_ [ w2 ]
XEERAE (%) 0.0

CHGVHE SR A DR &
aEgar ] 77 I oo oo o 5o o of 0
HEERALE %) 40.2 0.0 0.0 0.0
CHGVHE% &St | 7 1 A
HNEERAE ) 0.1

CHGTHE R A DM E &
eREgsst | o of of .. of _____ o o _________ of _________ 0
HEERALE %) 0.0 0.0 0.0 0.0
CHeThEMeRt [ o I o
XEERALE 0 0.0




